N =

2009 = =0 AF 2B
SN XSS A
M2 XA BHHL(BELX ML/ NALEAI)
el XIS @Iy

A

SNBSS - MEAY - BES 0l &k o4 e bz 2

XSS Al 38,397,379 42,477,518 24,080,139
= 100,000
s 33,670,000
& 4,627,379

KNSAArS] FEMNL(ZELXSNLY/NSLE Al 37,913,840 42,025,675 A4,111,835
= 100,000
s 33,670,000
L= 4,143,840

N 37,913,840 42,025,675 A4,111,835
= 100,000
s 33,670,000
= 4,143,840

NE=RX R S2HE (=) 31,675,000 33,121,000 A 1,446,000
s 31,670,000
= 5,000

202 O4Hl 5,000 6,000 A 1,000

01 =3LUAbI 5,000 6,000 21,000
OMg=EaX+ 8HENE - EE 5,000

401 Al&HIZ 204 6,000,000 2,000,000 4,000,000
s 6,000,000

01 A&l 5,694,000 1,962,200 3,731,800
QL= F T2 5,694,000
s 5,694,000

02 Zeltl 290,000 30,600 259,400
ONL=XXF T2 290,000
s 290,000

03 Al£Z=0Hd] 16,000 7,200 8,800
ONE=EXXNF T2 16,000
s 16,000

403 XXM ESX20IH 25,670,000 31,115,000 25,445,000
= 25,670,000

01 XXIESHIH2EEX 25,670,000 31,115,000 25,445,000
©OF] ===FIPNESY==p)] P~ 25,670,000
s 25,670,000




S NS A

M2 XA BHHL(BELT ML/ NALEAI)
el XIS R E Il (S5 & 2)
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ Hws2
Z8 2RCUX VATEHE N (2D) 2,000,000 2,000,000 0
= 2,000,000
403 TXISHSKHZO0IR 2,000,000 2,000,000 0
= 2,000,000
01 AAIHAERE 2,000,000 2,000,000 0
08 2RUN AR 2,000,000
2 2,000,000
NS EAl ZBAE XIE 104,900 3,532,500 ~3,427,600
201 Lsr2 | 80,000 0 80,000
01 AR el 80,000 0 80,000
OLVT YDELAD 2422t 80,000
202 o1t 24,900 30,000 A5,100
01 =Uotb 24,900 30,000 A5,100
O TCINQLE, A K= - B 24,900
WG Hels CABIEY XL 3,717,900 3,121,000 596,900
202 oft 7,900 21,000 £3,100
01 =UHoIH 17,900 21,000 A3,100
OSAJIZY FH SHEXE - B 5,000
OS ALY B X &0l 12,900
403 THXISHSKH2O0IH 3,700,000 3,100,000 600,000
01 XXM =R E 3,700,000 3,100,000 600,000
OSANEER =T 1,700,000
OTAINRY HY| 2,000,000
NATAl 252 2 52} 78,540 69,977 8,563
201 L2yl 78,540 69,977 8,563
RSN 78,540 69,977 8,563
OLBEZZAHHRAVS 29 30,000
OLRTAMII YRS 2 25,200
OYVETNLENLEFRE 2 8,400
ONAAMMAB LS RS 2 6,800
OLVTARAINS 2Y 5,440
OSIHNANLAH+YS S8t Bolg 2,700




S NS A

Mz NSNS PEMNE(ZELRNGNL/NSELZ Al
CHol: X o @ E e (S92l
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
AT Al L SWHHE =X 197,500 181,198 16,302
201 B2 IH| 6,000 6,000 0
01 ArR2t2|bl 6,000 6,000 0
(OFaFSPSESPNDN BNy 6,000
202 O4Hl 88,000 94,698 6,698
01 =2ZWodbl 5,000 6,698 N 1,698
OXNGMLAMSF=A 3o L X0 5,000
04 =Xt I 83,000 0 83,000
O Al & XYe A& A ZE AL 17,000
OFHeEAE A eixiora 13,000
OEX &2 gF X0 13,000
Od&AE) Iz L NS EY 19,000
O ML & YUI=0F BIX 0 21,000
203 YRFL&Y| 63,000 63,000 0
03 AMF=XHIFZAH| 63,000 63,000 0
OHET Al SEAIMFX 40,000
OHENSEHY AMMFA 20,000
OXNEZE MY AIBFX 3,000
301 LBt A= 10,500 17,500 AT7,000
10 SAIAHIBAZ 10,500 17,500 AT7,000
OAZF=XN HE M2 ZEEEZSF 4,000
OHETAZ0F 2HAAZI IH232 6,500
405 RHAHF SHI 30,000 0 30,000
01 XMANLEEFSHI 30,000 0 30,000
OWAMBEHHINHMHIK, THEIA ) 30,000
NENHOIS 243 MY =& 40,000 0 40,000
201 B2 IH| 40,000 0 40,000
03 #AI2HHI 40,000 0 40,000
OXEH 2BolzE & s 10,000
©2009 23 XN&H A 30,000
SAHEFHB™MA(UPIS) REAMY =&(=21) 100,000 0 100,000
= 100,000




S NS A

M2 XA BHHL(BELT ML/ NALEAI)
Sl X R EH (5l &2
SNBSS - HRAY - BHES 0 & o4 e HIRZE2

403 RXSHSERZ0IH 100,000 0 100,000
2 100,000

01 XXISHHIERE 100,000 0 100,000
OZAHNEZLHA(PIS) PHAY =W 100,000
2 100,000

X2 AZ I (XSS AID) (JIEHIIE 483,539 451,843 31,606

ol 2| 427,620 406,860 20,760

Z2 oIyl N 427,620 406,860 20,760

203 YREIY] 27,840 27,000 840

NEPIEEEEEETS 6,000 6,000 0
0=% 6,000

4 =N2Y 21,840 21,000 840
©302101 5t 350, 0002 *4JH T 122 16,800
©30010] 4 420,000 174 D122 5,040

204 HessAY 399,780 379,860 19,920

JEEEE 32,400 32,400 0
0=% 600, 00021 #1% #1228 7,200
CE-E 350,000% *6 % * 122 25,200

00 XIEZY 287,580 273,060 14,520
032 500, 0002 #1212 6,000
042 400,000 +6 % * 122 28,800
052 250, 00021 *288] 122 84,000
063 155, 0002 *44% * 122 81,840
o732 140,000 +30% + 122 65,520
©8 - 93 105,0002 * 17 « 122 21,420

03 SZYS 79,800 74,400 5,400
oRMLEY 50,0002 #5212 3,000
ouegs 50,0001 #1282 122 76,800

=Lt] 55,919 44,983 10,936

Heg Jle 55,919 44,983 10,936

201 Y2y 39,399 32,983 6,416

01 ARael 38,299 31,883 6.416




A N AL
A HH2AZH(KAZAID)(IIEH/IIE)

9l 0l 2R (S5l &2
_ _ MNuE o
SN -3H - S2A(2AH) - NRAY - BE= Off &F OH Ofl At ot HusZ

OR A2 AR 38,299

;2 ZZ2Y| 1,100 1,100 0
oRMEy B2 1,100

202 o1t 11,520 2,000 480

01 =LHoitl 11,520 12,000 2480
ORANEY 20| 11,520

405 THHFE S 5,000 0 5,000

01 HUUSEFSH] 5,000 0 5,000

O= A (1CH) 5,000




